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Term-End Examination 

June, 2023 

BECE-145 : INDIAN ECONOMY—I 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from each Section as per 

instructions given in each Section.  

Section&A  

Note : Answer any two questions in about  

500 words each. 2×20=40 

1. Discuss the two major phases of development 

paths pursued in India since independence. 

2. Explain the magnitude and causes of regional 

disparities in India. 

3. Analyse the linkage of poverty with factors 

influencing its alleviation. 

4. Discuss the issue of “regional divergence in 

inequality” in India. 
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Section&B  

Note : Answer any three questions in about  

250 words each. 3×10=30 

5. Critique the performance of Indian education 

sector in terms of its gender and quality 

dimensions.  

6. Outline the recent measures initiated to combat 

poverty in India during the post-2010 years.  

7. State the dimensions of „Nutritional Inequality.‟ 

8. List the social security schemes for unorganized 

sector workers in India implemented in post-

2000 years. Also make your broad comment. 

9. Highlight the principal differences in the 

economic growth profiles of India with those of 

Sri Lanka and China. 

Section&C  

Note : Attempt all questions from this  

Section.  

10. Distinguish between any three of the  

following :  3×5=15 

(a) Government and Governance 

(b) COR and ICOR 
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(c) Natural resources and Manmade resources 

(d) QALY and DALY 

(e) Horizontal inequality and Vertical 

inequality 

11. Write short notes on any three of the  

following :  3×5=15 

 (a) CDS of employment 

 (b) Current Account deficit 

(c) Democracy Index 

(d)  Debt-GDP ratio 

(e) Learning poverty 
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